SHAFEAB1BRE BEHEFREEFRERAORVHE

SH4ETA1BRE BETEEEXREIIRAODORUHTE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,147 6,494 12,641 5,350 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA
AFNHbig 3,065 3,239 6,304 2,222 I\ ithig 6,161 109 6,486 85 12,647 194 5,399 151
B &bl 5,154 5,395 10,549 4,002 Kfihigk 3,082 43 3,238 16 6,320 59 2,241 56
=B 1,463 1,501 2,964 1,114 B S 5,136 60 5,390 85 10,526 145 4,013 130
K ilfi Hhig 1,897 1,933 3,830 1,344 = B ihig 1,475 15 1,493 19 2,968 34 1,123 31
B Fithis 744 757 1,501 541 Kt Hhig 1,900 20 1,923 33 3,823 53 1,354 42
B ibig 775 811 1,586 679 B £ ih i 739 0 753 4 1,492 4 542 4
B EH2HE 19,245 20,130 39,375 15,252 B ithig 777 27 816 35 1,593 62 692 60
MEmLHE 19,270 274 20,099 277 39,369 551 15,364 474

&R (AT A kL) 4 14 A 24 3 A 20 17 15 14

HEREXSBRAQFNAEAERZSD.
Bt =i =1 HE
M AR (T2 ) 238 252 490 418 PMMFEIAIBRE BEHEREXRSRAORUHE(HRADH)

g B ZH | A0 B | HER

I\ ihig 6,052 6,401 12,453 5,248
AKFxhig 3,039 3,222 6,261 2,185
B Sithig 5,076 5,305 10,381 3,883
= B b g 1,460 1,474 2,934 1,092
Klfi high 1,880 1,890 3,770 1,312
BA = Bhigk 739 749 1,488 538
1 5 ih g 750 781 1,531 632
MEmLHE 18,996 [ 19,822 38,818 | 14,890
¥E (R A L) A 10 A 27 A 37 1




